Year 6 Arithmetic Homework 12th October  AMBER Due in 19th October
	1) 23 + 56 = 
	2) 67 + 89 = 

	3) 182 + 485 = 
	4) 29822 + 829 

	5) 92 - 24 = 
	6) 829 - 26 = 

	7) 8394 - 2748 = 
	8) 92832 - 172 = 

	9) 28 x 4 = 
	10) 13 x 6 = 

	11) 89 x 5 = 
	12) 61 x 3 = 

	13) 195 ÷ 5 = 
	14) 475 ÷ 5 = 

	15) 224 ÷4 = 
	16) 267 ÷ 3 = 

	17) ½ of 148
	18) ½ of 146

	19) ½ of 284
	20) 1/2 of 30

	21) 25% of 16 
	22) 25% of 64 

	23) 25% of 100 
	24) 25% of 240 

	25) 568 x 10= 
	26) 1.9 x 100 = 

	27) 2.3 x 100 = 
	28) 9.5 x 1000 = 

	29) 145 ÷ 10 = 
	30) 27.3 ÷ 10 = 

	31) 89.2 ÷ 100 = 
	32) 738.4 ÷ 1000 = 




Name:
Score: 




HONESTY:

	1) 79
	2) 156

	3) 667
	4) 30651

	5) 68
	6) 803

	7) 5646
	8) 92660



	9) 112
	10) 78

	11) 445
	12) 183

	13) 39
	14) 95

	15) 56
	16) 89



	17) 74
	18) 73

	19) 142
	20) 15

	21) 4
	22) 16

	23) 25
	24) 60



	25) 5680
	26) 190

	27) 230
	28) 9500

	29) 14.5
	30) 2.73

	31) 0.892
	32) 0.7384
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